# District School Board of Pasco County Bid Recommendation

Bid Title	Classroom Supplies Warehouse Stock	Number of Vendors Notified	555
Bid Number	12-008-AJ	Number of Bids Distributed	74
Date Solicited	February 4, 2011	Number of Vendors Bidding	19
Date Opened	February 25, 2011	Number of Vendors Not           Bidding	1
Date Board Presentation	June 7, 2011	Funding Source	General
Total Savings	\$130,800.33 (Estimated)	Grand Total of Bid	\$1,213,996.88 (Estimated)

# **Recommendation:**

Recommend acceptance of bids as noted on the attached tabulation sheet as lowest and best responsive and responsible bids meeting written specifications.

# Term of Contract:

This is an annual purchase for classroom supplies to be stocked in the central warehouse for use throughout the District.

## **Notations and Exceptions:**

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

**Item CS007**: Recommend acceptance of bid from Pyramid School Products, as lowest and best, responsive and responsible bid meeting written and testing specifications. Recommend rejection of Bye-Mo'r, Inc. for failure to submit samples as required.

**Item CS009:** Recommend acceptance of bid from Smith Office and Computer Supply, as lowest and best, responsive and responsible bid meeting written and testing specifications. Recommend rejection of lower bids from Business Stationers and Dick Blick Company as their item did not meet specifications as outlined in the bid document.

**Item CS014:** Recommend acceptance of bid from Bye-Mo'r, Inc., as lowest and best, responsive and responsible bid meeting written and testing specifications. Recommend rejection of lower bids from Ace Office Supplies, AFP Industries, Inc., Business Stationers, DGS Educational Products, and Pyramid School Products as their item did not meet specifications as outlined in the bid document. Recommend rejection of Classroom Products Warehouse, National Art and School Supplies, and TNT School Supplies, Inc. for failure to submit samples as required.

## Notations and Exceptions:

**Item CS017**: Recommend acceptance of bid from Pyramid School Products, as lowest and best, responsive and responsible bid meeting written and testing specifications. Recommend rejection of lower bids from Business Stationers and Standard Stationery Supply Company as their item did not meet specifications as outlined in the bid document. Recommend rejection of Smith Office and Computer Supply for failure to submit samples as required.

**Item CS018:** Recommend acceptance of bid from Pyramid School Products, as lowest and best, responsive and responsible bid meeting written and testing specifications. Recommend rejection of lower bid from Standard Stationery Supply as the markerboard cleaner was of poor quality and would not remove older marks. Recommend rejection of "tie" bid from Business Stationers as the markerboard cleaner was of poor quality and did not clean whiteboard well.

**Item CS022B:** Recommend acceptance of bid from Pyramid School Products, as lowest and best, responsive and responsible bid meeting written specifications. Recommend rejection of lower bid from Standard Stationery Supply as their item did not meet specifications as outlined in the bid document. Recommend rejection of DGS Educational Products for failure to submit samples as required.

**Item CS032**: Recommend acceptance of bid from Acco Brands USA, LLC. d/b/a GBC, as lowest and best, responsive and responsible bid meeting written specifications. Recommend rejection of AFP Industries, Inc. and Standard Stationery Supply Company as the laminating film was of poor quality and wrinkled easily. Recommend rejection of All States Office Supply, Inc., Competitive Edge, DGS Educational Products, Dick Blick Company, Pyramid School Products, and Redd Paper Company for failure to submit samples as required.

**Item CS048:** Recommend acceptance of bid from Classroom Products Warehouse, as lowest and best, responsive and responsible bid meeting written specifications. Recommend rejection of lower bids from ACE Office Supplies, AFP, Business Stationers, and Standard Stationery Supply as markers were of poor quality and had strong odor. Recommend rejection of DGS Educational Products for failure to submit samples as required.

**Item CS049:** Recommend acceptance of bid from Pyramid School Products, as lowest and best, responsive and responsible bid meeting written specifications. Recommend rejection of lower bids from ACE Office Supplies, AFP Industries, Inc., Business Stationers, and S & S Worldwide as their item did not meet specifications as outlined in the bid document.

**Item CS051:** Recommend acceptance of bid from Pyramid School Products, as lowest and best, responsive and responsible bid meeting written specifications. Recommend rejection of lower bids from ACE Office Supplies, AFP Industries, Inc., Business Stationers, and DGS Educational Products as their item did not meet specifications as outlined in the bid document.

#### **Bids Evaluated By:**

Cynthia Reedy, Bookkeeper – Secretary, Centennial Middle School Louanne Wood, Secretary II, Curriculum and Instructional Services Department Taryn Huertas, Secretary II, Curriculum and Instructional Services Department Joyce Woodall, Media Production Technician, Instructional Media and Technology Services Donna Zimmerer, Technology Services Technician, Information Services – Technology Services

### **Bids Prepared By:**

Andrea Jackson, Interim Buyer Assistant, Purchasing Department

# **Reviewed and Authorized By:**

Kendra Goodman, CPPO, CPPB, Purchasing Agent

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	Acco Brands USA LLC. d/b/a GBC		Ace Offic	e Supplies
BID TITLE:	Classroom Su	upplies - Warehouse Stock	300 Tower Parkway		631 Triumph Court, Unit #5	
BID # 12-00			Lincolnshire, IL 60069		Orlando, FL 32805	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		No Bid	
00000	120		NO DIG		NO BIG	
	Boxes	Manufacturer / Product #				
CS007	25	Flag, Florida - Valley Forge	No Bid		\$16.95	\$423.75
	Each	Manufacturer / Product #			Flagzone	e / 2082051
CS008	25	Flag, USA - Valley Forge	No Bid		\$12.95	\$323.75
	Each	Manufacturer / Product #				/ 4450454
	Each				Flagzone	9 / 1152151
CS009	400	Elmer's School Glue -	No Bid		No Bid	
	Packages	Manufacturer / Product #				
CS009A	240	Elmer's Glue-All	No Bid		No Bid	
0000071	240		No Bid		No Bid	
	Gallons	Manufacturer / Product #				1
		Pencils, Elementary with Eraser - Universal or				
CS012	480	Equal	No Bid		\$1.89	\$907.20
	Packages	Manufacturer / Product #			Liquimark / BRK 66221	
		Overhead Pens - Expo Vis-a-Vis #16074 or				
CS014	1,200	Equal	No Bid		\$1.29	\$1,548.00
	Packages	Manufacturer / Product #			Liquimark / BRK 12004	
	i denagee				Equinant	
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid		\$6.25	\$7,500.00
	Each	Manufacturer / Product #			Bostitch / N	/IPS - 1- BLK
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		No Bid	
						1
	Each	Manufacturer / Product #				
0000		Blunt Point Scissors - Kleencut #241-B or				
CS022B	360	Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #				
	1	1				

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	AFP Indu	ustries, Inc.	All States Off	ice Supply, Inc.
BID TITLE:	Classroom Su	upplies - Warehouse Stock	PO Box 43-0747		1000 West McNab Road	
BID # 12-00			South Miami, FL 33243		Pompano Beach, FL 33069	
17514/		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		\$7.44	\$892.80
00000	120				<b></b>	\$00 <u>2</u> .00
	Boxes	Manufacturer / Product #		1	Sanford	d / 73028
CS007	25	Flag, Florida - Valley Forge	\$16.30	\$407.50	No Bid	
	Each	Manufacturer / Product #	Valley Ford	je / 35232090		
CS008	25	Flag, USA - Valley Forge	\$12.26	\$306.50	No Bid	
	<b>F</b> a a b	Manufacturer / Product #				
	Each		Valley Forge	/ 35211000-CH		
CS009	400	Elmer's School Glue -	No Bid		\$13.44	\$5,376.00
	Packages	Manufacturer / Product #			Elmer's	/ EPIE304
CS009A	240	Elmer's Glue-All	No Bid		\$15.06	\$3,614.40
C3009A	240				\$15.00	\$3,014.40
	Gallons	Manufacturer / Product #			Elmer'	s / EPIE
		Pencils, Elementary with Eraser - Universal or				
CS012	480	Equal	\$1.97	\$945.60	\$4.76	\$2,284.80
	Packages	Manufacturer / Product #	Liquima	rk / 66221	Ticonderoga / 33312	
	1 uonugoo	Overhead Pens - Expo Vis-a-Vis #16074 or	Elquina		hoondere	
CS014	1,200	Equal	\$1.08	\$1,296.00	\$3.66	\$4,392.00
	Packages	Manufacturer / Product #	Liquima	rk / 12004	Expo	/ 16074
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	\$6.03	\$7,236.00	\$11.01	\$13,212.00
	.,200		<b>\$0.00</b>	¢.,200.00	φ	¢10,212.00
	Each	Manufacturer / Product #	Bostitch / MPS1-BLK		X-Acto /	EPI 1031
00045		Markerboard Cleaner - Soysafe SOY-WCR-22	<b>A</b> ( ) (		<b>Aa</b>	
CS018	600	or Equal	\$1.11	\$666.00	\$2.37	\$1,422.00
	Each	Manufacturer / Product #	Status Plus / 06-131		Ехро	/ 81803
		Blunt Point Scissors - Kleencut #241-B or				
CS022B	360	Equal	\$4.35	\$1,566.00	\$2.70	\$972.00
	David	Manufactures ( Draduct //	<b>.</b> .			# / 4 4500
	Boxes	Manufacturer / Product #	Armad	la / B855	Westcott / 14596	

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	Business	Stationers	Bye-N	1o'r, Inc.
BID TITLE: (	Classroom Su	Ipplies - Warehouse Stock	3800 Saint Patrick Street		PO Box 107	
BID # 12-00			Montreal, QC, H4E 1A4		Kingsbury, IN 46345	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #				
CS007	25	Flag, Florida - Valley Forge	No Bid		\$12.00	\$300.00
	Each	Manufacturer / Product #			Eder /	020303
CS008	25	Flag, USA - Valley Forge	\$8.00	\$200.00	\$18.70	\$467.50
	Each	Manufacturer / Product #	Status Plus / 43-462		Eder / 010078	
CS009	400	Elmer's School Glue -	\$4.20	\$1,680.00	\$6.28	\$2,512.00
	Packages	Manufacturer / Product #	Sticks Like	Glue / 67-184	Elmers / E304NR	
CS009A	240	Elmer's Glue-All	No Bid		\$7.77	\$1,864.80
	Gallons	Manufacturer / Product #		1	Elmers	s / E1326
CS012	480	Pencils, Elementary with Eraser - Universal or Equal	No Bid		\$2.60	\$1,248.00
	Packages	Manufacturer / Product #			Dix /	13308
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	\$1.20	\$1,440.00	\$2.23	\$2,676.00
	Packages	Manufacturer / Product #	Stella 931	6.4 / 04-134	Vis / 16074	
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	\$5.63	\$6,756.00	\$6.59	\$7,908.00
	Each	Manufacturer / Product #	Status Plus	8801 / 10-004	Bos	it / KS
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	\$1.10	\$660.00	\$1.67	\$1,902.00
	Each	Manufacturer / Product #	Status Pl	us / 06-131	Exp 2	/ 81803
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	\$4.66	\$1,677.60	\$4.70	\$1,692.00
	Boxes	Manufacturer / Product #	Gurst-Me	tal / 26-152	Armada	/ CS022B

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	Classroom Products Warehouse		Commercia	al Art Supply
BID TITLE:	Classroom Su	ipplies - Warehouse Stock	225 North Fairway Drive		935 Erie Boulevard East	
BID # 12-00			Vernon Hills, IL 60061		Syracuse, NY 13210	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		\$2.76	\$331.20
03003	120		NO BIG		φ2.70	ψ <b>331.20</b>
	Boxes	Manufacturer / Product #			Vitagum	/ 1144427
CS007	25	Flag, Florida - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
	Laon					
CS008	25	Flag, USA - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS009	400	Elmer's School Glue -	No Bid		No Bid	
C2009	400					
	Packages	Manufacturer / Product #				
CS009A	240	Elmer's Glue-All	No Bid		No Bid	
	Gallons	Manufacturer / Product #				
		Pencils, Elementary with Eraser - Universal or				
CS012	480	Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	\$2.50	\$3,000.00	No Bid	
00014	1,200		φ2.00	\$0,000.00		
	Packages	Manufacturer / Product #	SAFE-T	/ 5529115		Т
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid	<u> </u>	No Bid	
	Each	Manufacturer / Product #				
		Markerboard Cleaner - Soysafe SOY-WCR-22				
CS018	600	or Equal	\$4.24	\$2,544.00	No Bid	
	Each	Manufacturer / Product #	Expo /	5529270		
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	No Bid		\$4.44	\$1,598.40
				1	¥	\$1,000.10
	Boxes	Manufacturer / Product #			Armad	a / B855

DATE OF OPI	ENING:	March 7, 2011 @ 9:30 AM	Competitive Edge		DGS Educational Products	
BID TITLE: CI	assroom Su	pplies - Warehouse Stock	986 Kennedy Avenue, Suite C		4801 Linton Boulevard, Unit 11A-650	
BID # 12-008-			Schererville, IN 46375		Delray Bea	ch, FL 33445
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		\$4.50	\$540.00
	Boxes	Manufacturer / Product #			Vitagum	/ 1144427
CS007	25	Flag, Florida - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS008 2	25	Flag, USA - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS009	400	Elmer's School Glue -	No Bid		\$8.14	\$3,256.00
	Packages	Manufacturer / Product #			Elmers /	/ E304NR
CS009A	240	Elmer's Glue-All	No Bid		\$9.97	\$2,392.80
	Gallons	Manufacturer / Product #			Elmers /	E1326NR
CS012	480	Pencils, Elementary with Eraser - Universal or Equal	No Bid		\$2.70	\$1,296.00
	Packages	Manufacturer / Product #			Moon Po	ots / 600T
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	No Bid		\$1.99	\$2,388.00
	Packages	Manufacturer / Product #			VIS-AIE	D / 88240
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid		\$6.35	\$7,620.00
	Each	Manufacturer / Product #			Bostitch / N	MPST - BLK
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		\$1.88	\$1,128.00
	Each	Manufacturer / Product #			Dixon	/ 94008
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	No Bid		\$6.35	\$2,286.00
	Boxes	Manufacturer / Product #			Kleencu	ut / 241-B

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	Dick Blick	Company	National Art &	School Supplies
BID TITLE: (	Classroom Su	pplies - Warehouse Stock	PO Bo	ox 1267	2195 Elizabeth Avenue	
BID # 12-00			Galesburg, IL 61402		Rahway, NJ 07065	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	\$4.08	\$489.60	No Bid	
	Boxes	Manufacturer / Product #	Blick-Alt / 2	21507-1024		
CS007	25	Flag, Florida - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS008	25	Flag, USA - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS009	400	Elmer's School Glue -	\$5.04	\$2,016.00	No Bid	
	Packages	Manufacturer / Product #	Blick - Alt / 2	3882-1014-12		
CS009A	240	Elmer's Glue-All	\$8.98	\$2,155.20	No Bid	
	Gallons	Manufacturer / Product #	Blick - Alt / 23882-1009			
CS012	480	Pencils, Elementary with Eraser - Universal or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	\$6.65	\$7,980.00	\$2.09	\$2,508.00
	Packages	Manufacturer / Product #	Sanford /	21343-009	Ехро	/ 16074
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	\$8.98	\$10,776.00	No Bid	
	Each	Manufacturer / Product #	Boston KS /	21408-0100		
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #				

		Positive Promotions		Pyramid School Products	
D TITLE: Classroom Supplies - Warehouse Stock		15 Gilpin Avenue		6510 North 54th Street	
B-AJ		Hauppauge, NY 11788		Tampa, FL 33610	
				<u> </u>	
QTY		UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		\$3.00	\$360.00
Davaa	Manufacturer / Droduct #			\ <i>!</i> !	
DUXES				Vitagum	/ 1144427
25	Flag, Florida - Valley Forge	No Bid		\$16.29	\$407.25
Each	Manufacturer / Product #			Valley Forge	e / 35232090
25	Flag, USA - Valley Forge	No Bid		\$12.09	\$302.25
Each	Manufacturer / Product #			Valley Forge /	35211000-CH
400	Elmer's School Glue -	No Bid		\$5.88	\$2,352.00
Packages	Manufacturer / Product #	ifacturer / Product #		Elmers / School Glue E304	
240	Elmer's Glue-All	No Bid		\$7.19	\$1,725.60
Gallons	Manufacturer / Product #			Elmers / Glue All E1326NR	
480	Pencils, Elementary with Eraser - Universal or Equal	No Bid		\$1.36	\$652.80
Packages	Manufacturer / Product #			Musgrave / 5	00T(3910403)
1.200	Overhead Pens - Expo Vis-a-Vis #16074 or	No Bid		\$1.15	\$1,380.00
Packages	Manufacturer / Product #			Liquimark / 12	2004(1021260)
1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid		\$5.69	\$6,828.00
Each	Manufacturer / Product #			Boston / KS1	031(1137686)
600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		\$1.10	\$660.00
Each				Azor magistral / I	-15000(1112390)
360	Equal	No Bid		\$2.69	\$968.40
Boxes	Manufacturer / Product #			Acme / Kleencut	42516(2135200)
	<pre>*E QTY 120 Boxes 25 Each 25 Each 400 Packages 240 Gallons 480 Packages 1,200 Packages 1,200 Packages 1,200 Each 600</pre>	*Board Meeting - 6/7/11*           QTY         DESCRIPTION           120         Erasers, Art Gum - Vitagum #1144427 or Equal           Boxes         Manufacturer / Product #           25         Flag, Florida - Valley Forge           Each         Manufacturer / Product #           25         Flag, USA - Valley Forge           Each         Manufacturer / Product #           25         Flag, USA - Valley Forge           Each         Manufacturer / Product #           400         Elmer's School Glue -           Packages         Manufacturer / Product #           240         Elmer's Glue-All           Gallons         Manufacturer / Product #           240         Elmer's Glue-All           Gallons         Manufacturer / Product #           240         Elmen's Glue-All           Gallons         Manufacturer / Product #           1,200         Pencils, Elementary with Eraser - Universal or Equal           Packages         Manufacturer / Product #           1,200         Pencil Sharpeners - Expo Vis-a-Vis #16074 or Equal           Packages         Manufacturer / Product #           1,200         Pencil Sharpeners - Boston "KS" or Equal           Each         Manufacturer / Product # <tr< td=""><td>"Board Meeting - 6/7/11"         QTY       DESCRIPTION       UNIT PRICE         120       Erasers, Art Gum - Vitagum #1144427 or Equal       No Bid         Boxes       Manufacturer / Product #       No Bid         25       Flag, Florida - Valley Forge       No Bid         Each       Manufacturer / Product #       No Bid         25       Flag, USA - Valley Forge       No Bid         Each       Manufacturer / Product #       No Bid         400       Elmer's School Glue -       No Bid         Packages       Manufacturer / Product #       No Bid         240       Elmer's School Glue -       No Bid         Gallons       Manufacturer / Product #       No Bid         240       Elmer's Glue-All       No Bid         Gallons       Manufacturer / Product #       No Bid         480       Pencils, Elementary with Eraser - Universal or Equal       No Bid         Packages       Manufacturer / Product #       No Bid         1.200       Pencils Aarpeners - Expo Vis-a-Vis #16074 or 1.200       No Bid         Packages       Manufacturer / Product #       No Bid         1.200       Pencil Sharpeners - Boston "KS" or Equal       No Bid         Each       Manufacturer / Product #</td><td>"Board Meeting - 677/11"         UNIT PRICE         TOTAL PRICE           QTY         DESCRIPTION         UNIT PRICE         TOTAL PRICE           120         Erasers, Art Gum - Vitagum #1144427 or Equal         No Bid         Image: Comparison of Comparison of</td><td>TBoard Meeting - 67/711*         Image: Constraint of the set of t</td></tr<>	"Board Meeting - 6/7/11"         QTY       DESCRIPTION       UNIT PRICE         120       Erasers, Art Gum - Vitagum #1144427 or Equal       No Bid         Boxes       Manufacturer / Product #       No Bid         25       Flag, Florida - Valley Forge       No Bid         Each       Manufacturer / Product #       No Bid         25       Flag, USA - Valley Forge       No Bid         Each       Manufacturer / Product #       No Bid         400       Elmer's School Glue -       No Bid         Packages       Manufacturer / Product #       No Bid         240       Elmer's School Glue -       No Bid         Gallons       Manufacturer / Product #       No Bid         240       Elmer's Glue-All       No Bid         Gallons       Manufacturer / Product #       No Bid         480       Pencils, Elementary with Eraser - Universal or Equal       No Bid         Packages       Manufacturer / Product #       No Bid         1.200       Pencils Aarpeners - Expo Vis-a-Vis #16074 or 1.200       No Bid         Packages       Manufacturer / Product #       No Bid         1.200       Pencil Sharpeners - Boston "KS" or Equal       No Bid         Each       Manufacturer / Product #	"Board Meeting - 677/11"         UNIT PRICE         TOTAL PRICE           QTY         DESCRIPTION         UNIT PRICE         TOTAL PRICE           120         Erasers, Art Gum - Vitagum #1144427 or Equal         No Bid         Image: Comparison of	TBoard Meeting - 67/711*         Image: Constraint of the set of t

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	Redd Paper Company		Smith Office &	Computer Supply
BID TITLE: C	lassroom Su	pplies - Warehouse Stock	3851 Ce	nter Loop	1009 South 21st Avenue	
BID # 12-008			Orlando, FL 32808		Hollywood, FL 33020	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #		1		1
CS007	25	Flag, Florida - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS008	25	Flag, USA - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS009	400	Elmer's School Glue -	No Bid		\$5.70	\$2,280.00
	Packages	Manufacturer / Product #			Elmer	s / E304
CS009A	240	Elmer's Glue-All	No Bid		\$6.65	\$1,596.00
	Gallons	Manufacturer / Product #			Elmer	s / E340
CS012	480	Pencils, Elementary with Eraser - Universal or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	No Bid		\$2.35	\$2,820.00
	Packages	Manufacturer / Product #		1	Sanfor	d / 16074
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid		\$5.65	\$6,780.00
	Each	Manufacturer / Product #		1	Hunt/Bost	on / KS1031
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #				

DATE OF OF	ATE OF OPENING: March 7, 2011 @ 9:30 AM		S & S V	Vorldwide	Standard Statione	ry Supply Company
BID TITLE: C	Classroom Su	ipplies - Warehouse Stock	75 Mill Street		2251 Foster Avenue	
BID # 12-008			Colchester, CT 06415		Wheeling, IL 60080	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		\$3.92	
	Boxes	Manufacturer / Product #		1	Standard	s / AG-100
CS007	25	Flag, Florida - Valley Forge	No Bid		No Bid	
	Each	Manufacturer / Product #		1		1
CS008	25	Flag, USA - Valley Forge	No Bid		\$16.16	\$404.00
	Each	Manufacturer / Product #			Valley Forg	e / 35111000
CS009	400	Elmer's School Glue -	No Bid		\$5.77	\$2,308.00
	Packages	Manufacturer / Product #			Elmer's Scho	ol Glue / E304
CS009A	240	Elmer's Glue-All	No Bid		\$7.07	\$1,696.80
	Gallons	Manufacturer / Product #		1	Elmer's	Glue All
CS012	480	Pencils, Elementary with Eraser - Universal or Equal	No Bid		\$1.39	\$667.20
	Packages	Manufacturer / Product #		1	Musgra	ve / 500T
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	No Bid		\$2.42	\$2,904.00
	Packages	Manufacturer / Product #		1	Expo vis-à-vis	16074 / 16074
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid		\$5.33	\$6,396.00
	Each	Manufacturer / Product #		1	AccuPoi	nt / P58M
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		\$1.01	\$606.00
	Each	Manufacturer / Product #		1	Whiteboard \	Vizard / 81803
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	No Bid		\$2.37	\$853.20
	Boxes	Manufacturer / Product #			Standar	ds / 9416

DATE OF OPENING:		March 7, 2011 @ 9:30 AM	TNT School Supplies, Inc.		U.S. Flags & Foreig	n Flags & Poles, Inc.
BID TITLE: C	Classroom Su	ipplies - Warehouse Stock	PO B	ox 1007	124 Providence Court	
BID # 12-008			Dawsonville, GA 30534		Centerville, MD 21617	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS003	120	Erasers, Art Gum - Vitagum #1144427 or Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #				
CS007	25	Flag, Florida - Valley Forge	No Bid		\$17.28	\$432.00
	Each	Manufacturer / Product #			Valley Forg	e / 35232090
CS008	25	Flag, USA - Valley Forge	No Bid		\$12.99	\$324.75
	Each	Manufacturer / Product #			Valley Forge	/ 35211000-CH
CS009	400	Elmer's School Glue -	No Bid		No Bid	
	Packages	Manufacturer / Product #				1
CS009A	240	Elmer's Glue-All	No Bid		No Bid	
	Gallons	Manufacturer / Product #				1
CS012	480	Pencils, Elementary with Eraser - Universal or Equal	\$0.69	\$49.68	No Bid	
	Packages	Manufacturer / Product #	Rose	e Moon		1
CS014	1,200	Overhead Pens - Expo Vis-a-Vis #16074 or Equal	\$2.15	\$103.20	No Bid	
	Packages	Manufacturer / Product #	Ki	ttrich		1
CS017	1,200	Pencil Sharpeners - Boston "KS" or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				1
CS018	600	Markerboard Cleaner - Soysafe SOY-WCR-22 or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #		I		1
CS022B	360	Blunt Point Scissors - Kleencut #241-B or Equal	No Bid		No Bid	
	Boxes	Manufacturer / Product #				

BID TITLE:	Classroom Su	upplies - Warehouse Stock	300 Tow	er Parkway	631 Triumph	Court, Unit #5
BID # 12-00			Lincolnshi	re, IL 60069	Orlando, FL 32805	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		\$9.48	\$2,844.00
	Packages	Manufacturer / Product #		1	Shurtape / C	P83-3/4 x 60
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		\$23.88	\$2,865.60
	Packages	Manufacturer / Product #			Shurtape /	CP83-2 x 60
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	\$15.89	\$47,670.00	No Bid	
	Rolls	Manufacturer / Product #	GBC /	3000004		Ι
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	No Bid		\$1.99	\$4,776.00
	Sets	Manufacturer / Product #			Liquimar	k / 25040
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	No Bid		\$3.89	\$9,336.00
	Sets	Manufacturer / Product #		1	Liquimar	k / 25800
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		\$3.89	\$4,668.00
	Sets	Manufacturer / Product #			Liquimar	k / 24800
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		No Bid	
	Gross	Manufacturer / Product #				

BID TITLE: Classroom Supplies - Warehouse Stock			PO Box 43-0747		1000 West McNab Road	
BID # 12-00			South Miami, FL 33243		Pompano Beach, FL 33069	
	*E	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		\$18.26	\$5,478.00
	Packages	Manufacturer / Product #			3M Scotch	/ 2600-18A
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		\$22.39	\$2,686.80
	Packages	Manufacturer / Product #			3M Scotch	/ 2600-48A
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	\$15.28	\$45,840.00	\$57.57	\$172,710.00
	Rolls	Manufacturer / Product #	HOP / LR1.5 x 25/500		Sparco / 01158	
CS035	1,800	Showboards, Folding - Showboard or Equal	\$2.06	\$30,043.00	No Bid	
	Each	Manufacturer / Product #	Flipside / 30043			1
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	\$1.74	\$4,176.00	\$4.04	\$9,696.00
	Sets	Manufacturer / Product #	Liquimark / 25040		Expo / 83074	
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	\$3.33	\$7,992.00	\$8.45	\$20,280.00
	Sets	Manufacturer / Product #	Liquimark / 25800		Expo / 83074	
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	\$3.33	\$3,996.00	\$7.32	\$8,784.00
	Sets	Manufacturer / Product #	Liquimark / 24800		Marks - A	Lot / 91080
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	\$5.69	\$6,828.00	\$22.20	\$26,640.00
	Gross	Manufacturer / Product #	Liquima	rk / 66421	Dixon / 1388-2	

BID TITLE:	Classroom Su	upplies - Warehouse Stock	3800 Saint Patrick Street		PO Box 107	
BID # 12-00			Montreal, QC, H4E 1A4		Kingsburg	y, IN 46345
	*E	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		\$8.66	\$25.00
	Packages	Manufacturer / Product #			3M /	/ 2600
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		\$24.00	\$2,880.00
	Packages	Manufacturer / Product #			3M /	/ 2600
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	No Bid		No Bid	
	Rolls	Manufacturer / Product #				
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		\$1.45	\$2,610.00
	Each	Manufacturer / Product #			APC / F	Pres3648
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	\$2.02	\$4,848.00	\$2.77	\$6,648.00
	Sets	Manufacturer / Product #	Perfection / 06-018		Exp / 83074	
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	\$4.04	\$9,696.00	\$5.59	\$13,416.00
	Sets	Manufacturer / Product #	Perfection / 06-019		Exp / 83078	
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	\$4.04	\$4,848.00	\$5.44	\$6,528.00
	Sets	Manufacturer / Product #	Perfection 8808 / 06-072		Exp /	88078
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		\$6.55	\$7,860.00
	Gross	Manufacturer / Product #			Dix /	14412

BID TITLE:	BID TITLE: Classroom Supplies - Warehouse Stock		225 North I	Fairway Drive	935 Erie Bo	oulevard East
BID # 12-00			Vernon Hills, IL 60061		Syracuse, NY 13210	
	*	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		\$6.72	\$2,016.00
	Packages	Manufacturer / Product #			Intertape	/ 5053460
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		\$16.92	\$2,030.40
	Packages	Manufacturer / Product #			Intertape	e / 505260
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	No Bid		No Bid	
	Rolls	Manufacturer / Product #				1
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				I
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	\$2.50	\$6,000.00	No Bid	
	Sets	Manufacturer / Product #	SAFE-T / 5529114			
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	No Bid		No Bid	
	Sets	Manufacturer / Product #				I
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		No Bid	
	Sets	Manufacturer / Product #				T
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		No Bid	
	Gross	Manufacturer / Product #				

BID TITLE: Classroom Supplies - Warehouse Stock		986 Kennedy Avenue, Suite C		4801 Linton Boulevard, Unit 11A-650		
BID # 12-00			Schererville, IN 46375 Delray Bea		ach, FL 33445	
	*E	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #		1		
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #		1		
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	\$16.50	\$49,500.00	\$25.40	\$76,200.00
	Rolls	Manufacturer / Product #	DRY-LAM / SL2551-1		Transilwrap / 1.5FG	
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		\$1.48	\$2,664.00
	Each	Manufacturer / Product #		1	Ritew or APC / 2	2101 or pres3648
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	No Bid		\$2.25	\$5,400.00
	Sets	Manufacturer / Product #			Dixon	/ 92040
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	No Bid		\$4.45	\$10,680.00
	Sets	Manufacturer / Product #		1	Dixon	/ 92080
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		\$4.49	\$5,388.00
	Sets	Manufacturer / Product #			Dixon	/ 91080
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		\$7.48	\$8,976.00
	Gross	Manufacturer / Product #			Moon Pots	s / SB14663

BID TITLE:	BID TITLE: Classroom Supplies - Warehouse Stock		PO Box 1267		2195 Elizabeth Avenue	
BID # 12-00			Galesburg, IL 61402		Rahway, NJ 07065	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				[
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				[
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	\$28.01	\$84,030.00	No Bid	
	Rolls	Manufacturer / Product #	Dry - Lem / 23240-1500			[
CS035	1,800	Showboards, Folding - Showboard or Equal	\$4.81	\$8,658.00	No Bid	
	Each	Manufacturer / Product #	Pacon Paper	/ 13102-1007		
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	\$4.01	\$9,624.00	\$2.57	\$6,168.00
	Sets	Manufacturer / Product #	Sanford / 21325-1349		Expo / 83074	
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	\$7.92	\$19,008.00	\$5.16	\$12,384.00
	Sets	Manufacturer / Product #	Sanford / 21325-1389		Expo / 83078	
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		\$5.52	\$6,624.00
	Sets	Manufacturer / Product #			Expo / 88078	
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		No Bid	
	Gross	Manufacturer / Product #				

BID TITLE:	BID TITLE: Classroom Supplies - Warehouse Stock		15 Gilpi	n Avenue	6510 North	n 54th Street
BID # 12-00			Hauppauge, NY 11788		Tampa, FL 33610	
	*	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		\$6.60	\$1,980.00
	Packages	Manufacturer / Product #			Surtape / CF	2106(1509835)
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		\$17.40	\$2,088.00
	Packages	Manufacturer / Product #		Shurtape / C	P106(150926)	
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	No Bid		\$16.95	\$50,850.00
	Rolls	Manufacturer / Product #	nufacturer / Product #			/ LR-1.5
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		\$2.08	\$3,744.00
	Each	Manufacturer / Product #			Flipside / 30043(2ply)	
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	No Bid		\$2.59	\$6,216.00
	Sets	Manufacturer / Product #			Sanford / Expo 83074(1157932)	
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	No Bid		\$4.99	\$11,976.00
	Sets	Manufacturer / Product #			Sanford / Expo	83078(3924438)
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		\$5.05	\$6,060.00
	Sets	Manufacturer / Product #			Sanford / Expo 88078(3976727)	
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		\$5.88	\$7,056.00
	Gross	Manufacturer / Product #			Musgrave / 110	)1 Yellow Special

BID TITLE: Classroom Supplies - Warehouse Stock			3851 Center Loop		1009 South	21st Avenue
BID # 12-00			Orlando	, FL 32808	Hollywood, FL 33020	
		Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	\$8.37	\$2,511.00	No Bid	
	Packages	Manufacturer / Product #	Tesa	a / 4421		I
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	\$20.78	\$2,493.60	No Bid	
	Packages	Manufacturer / Product #	Tesa	a / 4421		1
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	\$20.07	\$60,210.00	No Bid	
	Rolls	Manufacturer / Product #	Transilw	rap / 1-SFG		Ι
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				1
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	No Bid		\$2.78	\$6,672.00
	Sets	Manufacturer / Product #			Sanford	1 / 83074
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	No Bid		\$5.42	\$13,008.00
	Sets	Manufacturer / Product #			Sanford	/ 83078
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		\$5.42	\$6,504.00
	Sets	Manufacturer / Product #			Sanford	/ 6504.00
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		No Bid	
	Gross	Manufacturer / Product #				

BID TITLE: Classroom Supplies - Warehouse Stock		75 Mill Street		2251 Foster Avenue		
BID # 12-00			Colchester, CT 06415		Wheeling, IL 60080	
	*	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		\$6.20	\$1,860.00
	Packages	Manufacturer / Product #			Edge	/ E83-1
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		\$16.88	\$2,025.60
	Packages	Manufacturer / Product #			Edge	/ E83-2
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	No Bid		\$14.65	\$43,950.00
	Rolls	Manufacturer / Product #	/ Product #			1.5 x 25/500
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	\$2.49	5.976.00	\$0.91	\$2,179.20
	Sets	Manufacturer / Product #	Liquimark 24400 / SC920		Whiteboard Wizard / WB80-4	
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	\$4.70	\$11,280.00	\$5.45	\$13,080.00
	Sets	Manufacturer / Product #	Liquimark 24800 / SC967		Sanford / 83078	
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	\$4.70	\$5,640.00	\$5.39	\$6,468.00
	Sets	Manufacturer / Product #	Liquimark 24800 / SC967		Sanford / 88078	
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	No Bid		\$5.57	\$6,684.00
	Gross	Manufacturer / Product #			LiquiMa	rk / 66421

BID TITLE:	BID TITLE: Classroom Supplies - Warehouse Stock		PO Box 1007		124 Providence Court	
BID # 12-00			Dawsonville, GA 30534		Centerville, MD 21617	
	*	Board Meeting - 6/7/11*				
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
CS025	300	Masking Tape 3/4" x 60 yds - Shurtape or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				
CS027	120	Masking Tape 2" x 60 yds - Shurtape or Equal	No Bid		No Bid	
	Packages	Manufacturer / Product #				
CS032	3,000	Laminating Film - Transilwrap 1-SFG or Equal	No Bid		No Bid	
	Rolls	Manufacturer / Product #				
CS035	1,800	Showboards, Folding - Showboard or Equal	No Bid		No Bid	
	Each	Manufacturer / Product #				
CS048	2,400	Dry-Erase Markers 4-Color Set (Chisel-Tip) Expo Dry Erase Marker 83074 or Equal	\$2.15	\$103.20	No Bid	
	Sets	Manufacturer / Product #	Kittrich			
CS049	2,400	Dry Erase Markers 8-Color Set (Chisel Tip) Expo Dry Erase Marker 83078 or Equal	No Bid		No Bid	
	Sets	Manufacturer / Product #				
CS051	1,200	Dry Erase Markers 8-Color Set (Bullet-Tip) Expo Dry Erase Marker 88078 or Equal	No Bid		No Bid	
	Sets	Manufacturer / Product #				T
CS055	1,200	Pencils #2 - Musgrave Prospector II or Equal	\$14.95	\$14.95	No Bid	
	Gross	Manufacturer / Product #	Di	xon		